

GRAND FURUTA INEQUALITY AND ITS VARIANT

MASATOSHI FUJII, EIZABURO KAMEI AND RITSUO NAKAMOTO

(communicated by Y. Seo)

Abstract. The grand Furuta inequality (GFI) is understood as follows: If positive operators A and B on a Hilbert space satisfy $A \geq B \geq 0$, A is invertible and $t \in [0, 1]$, then

$$A^{1-t+r} \geq (A^{\frac{r}{2}} (A^{-\frac{t}{2}} B^p A^{-\frac{t}{2}})^s A^{\frac{t}{2}})^{\frac{1-t+r}{(p-t)s+r}}$$

holds for $p, s \geq 1$ and $r \geq t$. In this note, we present a short proof of (GFI) which is done by the usual induction on s and the use of the Furuta inequality. Furthermore we propose another simultaneous extension of the Ando-Hiai and Furuta inequalities: If $A \geq B \geq 0$, A is invertible and $t \in [0, 1]$, then

$$A^t \sharp_{\frac{1-t}{p-t}} B^p \geq A^{-r+t} \sharp_{\frac{1-t+r}{(p-t)s+r}} (A^t \natural_s B^p)$$

holds for $r \geq t$ and $p, s \geq 1$. Here \sharp_α is the α -geometric mean and \natural_s for $s \notin [0, 1]$ is of the same form as \sharp_α .

1. Introduction. Throughout this note, A and B are positive operators on a Hilbert space. For convenience, we denote $A \geq 0$ (resp. $A > 0$) if A is a positive (resp. positive invertible) operator.

A real-valued function f on $[0, \infty)$ is called operator monotone if it is order-preserving, i.e., $A \geq B \geq 0$ implies $f(A) \geq f(B)$. The most typical example of it is the function: $x \rightarrow x^\alpha$ for $\alpha \in [0, 1]$, which is known as the Löwner-Heinz inequality (LH). By the Kubo-Ando theory [14] on operator means, it induces the α -geometric mean $A \sharp_\alpha B$, precisely,

$$A \sharp_\alpha B = A^{\frac{1}{2}} (A^{-\frac{1}{2}} B A^{-\frac{1}{2}})^\alpha A^{\frac{1}{2}} \quad \text{for } 0 \leq \alpha \leq 1 \text{ and } A > 0.$$

Related to this, Ando-Hiai [1] showed a beautiful log-majorization theorem, whose core is the following order-preserving inequality:

ANDO-HIAI INEQUALITY. *Let α be in $[0, 1]$.*

$$(AH) \quad A \sharp_\alpha B \leq I \implies A^r \sharp_\alpha B^r \leq I \text{ for } r \geq 1.$$

Mathematics subject classification (2000): 47A63, 47A64.

Key words and phrases: Positive operators, operator mean, Löwner-Heinz inequality, Furuta inequality, grand Furuta inequality.

The following expression of Ando-Hiai inequality is convenient for our discussion below: If $A \geq B \geq 0$ and A is invertible, then for each $p \geq 1$

$$A^{-r} \#_{\frac{1}{p}} (A^{-\frac{1}{2}} B^p A^{-\frac{1}{2}})^r \leq I \quad \text{for } r \geq 1.$$

On the other hand, Furuta paid his attention to the fact that (LH) is false for $p > 1$, i.e.,

$$A \geq B \geq 0 \not\Rightarrow A^p \geq B^p.$$

He consequently found the following remedy, which includes (LH) as the case $r = 0$.

FURUTA INEQUALITY. *If $A \geq B \geq 0$, then for each $r \geq 0$,*

$$A^{\frac{p+r}{q}} \geq (A^{\frac{r}{2}} B^p A^{\frac{r}{2}})^{\frac{1}{q}}$$

holds for p and q such that $p \geq 0$ and $q \geq 1$ with $(1+r)q \geq p+r$.

By virtue of (LH), the essence of Furuta inequality is just in the optimal case $(1+r)q = p+r$, which is expressed as follows:

(FI) $A \geq B \geq 0$ implies $A^{-r} \#_{\frac{1+r}{p+r}} B^p \leq A$ for $p \geq 1$ and $r \geq 0$.

2. Grand Furuta inequality. To interpolate between Ando-Hiai inequality and Furuta inequality, Furuta [8] established the following operator inequality, which is called grand Furuta inequality (GFI). In this section, we give a short proof of it by the usual induction.

GRAND FURUTA INEQUALITY. *If $A \geq B \geq 0$ and A is invertible, then for each $t \in [0, 1]$*

(GFI) $A^{1-t+r} \geq \{A^{r/2} (A^{-t/2} B^p A^{-t/2})^s A^{r/2}\}^{\frac{1-t+r}{(p-t)s+r}}$

holds for $p, s \geq 1$ and $r \geq t$.

Proof. We prove it by the induction on s . For this, we first prove it for $1 \leq s \leq 2$: Since $(X^* C^2 X)^s = X^* C(CXX^* C)^{s-1} CX$ for arbitrary X and $C \geq 0$, and $0 \leq s-1 \leq 1$, (LH) implies that

$$\begin{aligned} A^{r/2} (A^{-t/2} B^p A^{-t/2})^s A^{r/2} &= A^{\frac{r-t}{2}} B^{\frac{p}{2}} (B^{\frac{p}{2}} A^{-t} B^{\frac{p}{2}})^{s-1} B^{\frac{p}{2}} A^{\frac{r-t}{2}} \\ &\leq A^{\frac{r-t}{2}} B^{\frac{p}{2}} (B^{\frac{p}{2}} B^{-t} B^{\frac{p}{2}})^{s-1} B^{\frac{p}{2}} A^{\frac{r-t}{2}} = A^{\frac{r-t}{2}} B^{(p-t)s+t} A^{\frac{r-t}{2}}. \end{aligned}$$

Furthermore it follows from (LH) and (FI) that

$$\{A^{r/2} (A^{-t/2} B^p A^{-t/2})^s A^{r/2}\}^{\frac{1-t+r}{(p-t)s+r}} \leq \{A^{\frac{r-t}{2}} B^{(p-t)s+t} A^{\frac{r-t}{2}}\}^{\frac{1-t+r}{(p-t)s+r}} \leq A^{1-t+r}$$

by noting that $(p-t)s+t+(r-t) = (p-t)s+r$. Hence (GFI) is proved for $1 \leq s \leq 2$.

Next, under the assumption (GFI) holds for some $s \geq 1$, we now prove that (GFI) holds for $s+1$. Since (GFI) holds for s , we take $r = t$ in it. Thus we have

$$A \geq \{A^{t/2} (A^{-t/2} B^p A^{-t/2})^s A^{t/2}\}^{\frac{1}{(p-t)s+t}}.$$

Put $C = \{A^{t/2}(A^{-t/2}B^pA^{-t/2})^sA^{t/2}\}^{\frac{1}{(p-t)s+t}}$, that is, $A \geq C$. By using that $s \geq 1$ if and only if $1 \leq \frac{s+1}{s} \leq 2$ and that (GFI) for $1 \leq s \leq 2$ has been proved, we obtain that

$$\begin{aligned} A^{1-t+r} &\geq \{A^{r/2}(A^{-t/2}C^{(p-t)s+t}A^{-t/2})^{\frac{s+1}{s}}A^{r/2}\}^{\frac{1-t+r}{\{(p-t)s+t\}(\frac{s+1}{s})+r}} \\ &= \{A^{r/2}(A^{-t/2}C^{(p-t)s+t}A^{-t/2})^{\frac{s+1}{s}}A^{r/2}\}^{\frac{1-t+r}{(p-t)(s+1)+r}} \\ &= \{A^{r/2}(A^{-t/2}\{A^{t/2}(A^{-t/2}B^pA^{-t/2})^sA^{t/2}\}A^{-t/2})^{\frac{s+1}{s}}A^{r/2}\}^{\frac{1-t+r}{(p-t)(s+1)+r}} \\ &= \{A^{r/2}(A^{-t/2}B^pA^{-t/2})^{s+1}A^{r/2}\}^{\frac{1-t+r}{(p-t)(s+1)+r}}. \end{aligned}$$

This means that (GFI) holds for $s + 1$, and so the proof is complete. \square

3. A variant of grand Furuta inequality. We use the notation $A \natural_r B = A^{\frac{1}{2}}(A^{\frac{1}{2}}BA^{\frac{1}{2}})^rA^{\frac{1}{2}}$ for $r \notin [0, 1]$. (GFI) is expressed as follows:

If $A \geq B \geq 0$, A is invertible and $0 \leq t \leq 1$, then

(GFI)
$$A^{-r+t} \natural_{\frac{1-t+r}{(p-t)s+r}} (A^t \natural_s B^p) \leq A$$

holds for $r \geq t$ and $p, s \geq 1$.

One of the authors analysed Furuta inequality as a satellite [11] (cf.[12]):

(SF)
$$A \geq B \geq 0 \text{ and } A > 0 \text{ imply } A^{-r} \natural_{\frac{1+r}{p+r}} B^p \leq B \leq A \text{ for } p \geq 1 \text{ and } r \geq 0.$$

Based on (SF), we improved (GFI):

If $A \geq B \geq 0$, A is invertible and $0 \leq t \leq 1$, then

(SGF)
$$A^{-r+t} \natural_{\frac{1-t+r}{(p-t)s+r}} (A^t \natural_s B^p) \leq B$$

holds for $r \geq t$ and $p, s \geq 1$.

Under such situation, we now propose a variant of grand Furuta inequality which contains (SF) and (AH).

THEOREM. *If $A \geq B \geq 0$ and A is invertible, then for each $p \geq 1$ and $0 \leq t \leq 1$,*

$$A^{-r+t} \natural_{\frac{1-t+r}{(p-t)s+r}} (A^t \natural_s B^p) \leq A^t \natural_{\frac{1-t}{p-t}} B^p$$

holds for $r \geq t$ and $s \geq 1$.

Proof. First of all, we cite two useful formulas on \natural_a (and \sharp_a), which are frequently used below; for $X, Y, > 0$ and $a, b \in \mathbb{R}$

- (i) transposition: $X \natural_a Y = Y \natural_{1-a} X$,
- (ii) multiplicativity: $X \natural_{ab} Y = X \natural_a (X \natural_b Y)$.

Now, if $A \geq B \geq 0$, then $A^t \geq B^t$ by the Löwner-Heinz inequality. It is equivalent to $A^{-t} \sharp_{\frac{1}{p}} A^{-\frac{1}{2}} B^p A^{-\frac{1}{2}} \leq I$. Recall our recent result in [5] on a generalization of (AH): Let α be in $[0, 1]$. Then

(GAH)
$$A \sharp_{\alpha} B \leq I \implies A^r \sharp_{\frac{\alpha r}{\alpha r + (1-\alpha)s}} B^s \leq 1 \text{ for } r, s \geq 1.$$

By this, we have

$$A^{-tr_1} \#_{\frac{\frac{tr_1}{p}}{(1-\frac{t}{p})s+\frac{tr_1}{p}}} (A^{-\frac{t}{2}} B^p A^{-\frac{t}{2}})^s \leq I \text{ for } r_1, s \geq 1$$

If we take $r_1 = \frac{r}{t} \geq 1$, then

$$A^{-r} \#_{\frac{r}{(p-t)s+r}} (A^{-\frac{t}{2}} B^p A^{-\frac{t}{2}})^s = (A^{-\frac{t}{2}} B^p A^{-\frac{t}{2}})^s \#_{\frac{(p-t)s}{(p-t)s+r}} A^{-r} \leq I,$$

or equivalently

$$(A^t \#_s B^p) \#_{\frac{(p-t)s}{(p-t)s+r}} A^{-r+t} \leq A^t.$$

Hence we have the conclusion by the following calculations.

$$\begin{aligned} & A^{-r+t} \#_{\frac{1-t+r}{(p-t)s+r}} (A^t \#_s B^p) = (A^t \#_s B^p) \#_{\frac{(p-t)s-(1-t)}{(p-t)s+r}} A^{-r+t} \\ &= (A^t \#_s B^p) \#_{\frac{(p-t)s-(1-t)}{(p-t)s}} ((A^t \#_s B^p) \#_{\frac{(p-t)s}{(p-t)s+r}} A^{-r+t}) \\ &\leq (A^t \#_s B^p) \#_{\frac{(p-t)s-(1-t)}{(p-t)s}} A^t \\ &= A^t \#_{\frac{1-t}{(p-t)s}} (A^t \#_s B^p) = A^t \#_{\frac{1-t}{p-t}} B^p. \quad \square \end{aligned}$$

REMARK. In Theorem, if we take $t = 0$ and $s = 1$, then we have (SF); on the other hand, if we take $t = 1$ and $r = s$, then we have the following inequality equivalent to (AH) for $\alpha = \frac{1}{p}$, as stated in the first section: If $A \geq B \geq 0$ and A is invertible, then for each $p \geq 1$,

$$A^{-r+1} \#_{\frac{1}{p}} (A \#_r B^p) \leq A$$

holds for $r \geq 1$.

Acknowledgement. The authors would like to express their thanks to the referee for his kind suggestion.

REFERENCES

- [1] T. ANDO AND F. HIAI, *Log majorization and complementary Golden-Thompson type inequality*, Linear Alg. Appl., **197** (1994), 113–131.
- [2] M. FUJII, *Furuta’s inequality and its mean theoretic approach*, J. Operator Theory, **23** (1990), 67–72.
- [3] M. FUJII AND E. KAMEI, *Ando-Hiai inequality and Furuta inequality*, Linear Alg. Appl., **416** (2006), 541–545.
- [4] M. FUJII, T. FURUTA AND E. KAMEI, *Furuta’s inequality and its application to Ando’s theorem*, Linear Alg. Appl., **179** (1993), 161–169.
- [5] M. FUJII, E. KAMEI AND R. NAKAMOTO, *An analysis on the internal structure of the celebrated Furuta inequality*, Sci. Math. Japon., **62** (2005), 421–427.
- [6] T. FURUTA, *$A \geq B \geq 0$ assures $(B^t A^p B^r)^{1/q} \geq B^{(p+2r)/q}$ for $r \geq 0, p \geq 0, q \geq 1$ with $(1+2r)q \geq p+2r$* , Proc. Amer. Math. Soc., **101** (1987), 85–88.
- [7] T. FURUTA, *Elementary proof of an order preserving inequality*, Proc. Japan Acad., **65** (1989), 126.
- [8] T. FURUTA, *Extension of the Furuta inequality and Ando-Hiai log-majorization*, Linear Alg. Appl., **219** (1995), 139–155.

- [9] T. FURUTA, *Invitation to Linear Operators*, Taylor & Francis, London and New York, (2001).
- [10] F. HIAI, *Log-majorizations and norm inequalities for exponential operators*, Linear Operators Banach Center Publications, vol. 38, 1997.
- [11] E. KAMEI, *A satellite to Furuta's inequality*, Math. Japon., **33** (1988), 883–886.
- [12] E. KAMEI, *Parametrization of the Furuta inequality*, Math. Japon., **49** (1999), 65–71.
- [13] E. KAMEI, *Parameterized grand Furuta inequality*, Math. Japon., **50** (1999), 79–83.
- [14] F. KUBO AND T. ANDO, *Means of positive linear operators*, Math. Ann., **246** (1980), 205–224.

(Received August 24, 2007)

Masatoshi Fujii
Department of Mathematics
Osaka Kyoiku University
Asahigaoka, Kashiwara
Osaka, 582-8582, Japan
e-mail: mfujii@cc.osaka-kyoiku.ac.jp

Eizaburo Kamei
Maebashi Institute of Technology
Kamisadori, Maebashi
Gunma, 371-0816, Japan
e-mail: kamei@maebashi-it.ac.jp

Ritsuo Nakamoto
Faculty of Engineering
Ibaraki University
Nakanarusawa, Hitachi
Ibaraki 316-8511, Japan
e-mail: nakamoto@mx.ibaraki.ac.jp